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QUESTION 1

You have a NAS volume containing 100 GB of data and daily change rate of 10%. You want to keep seven daily
Snapshot copies. What is the minimum size for the volume? 

A. 170 GB 

B. 100 GB 

C. 110 GB 

D. 220 GB 

Correct Answer: A 

 

QUESTION 2

You are implementing version flexible SnapMirror in a clustered Data ONTAP environment. Which type of SnapMirror
policy would be used? 

A. sync-mirror 

B. version-flexible 

C. async-mirror 

D. vault 

Correct Answer: C 

 

QUESTION 3

A client is planning to configure a SnapMirror relationship between two sites. Normally their ISP provides network
throughput of 100 Mbps; however, they can arrange to have this burst to 1 Gbps for a period of time at an additional
cost. 

Their intention is to back up 400 GB of Snapshot data each day using the burst option to keep the replication time to a
minimum. In this scenario, how much burst time do they need to purchase? 

A. 15 minutes 

B. 30 minutes 

C. 45 minutes 

D. 60 minutes 

Correct Answer: C 
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QUESTION 4

After deploying an ONTAP Select 2 node HA cluster at a remote site, you successfully perform manual 

takeover and giveback before placing the cluster into production. After the cluster runs in production for a 

week, you notice that you can no longer perform a manual takeover. 

In this scenario, what are two causes of this problem? (Choose two.) 

A. There is a network disruption between sites. 

B. ONTAP Deploy has been deleted. 

C. The vSphere HA service has failed. 

D. The HA interconnect cables have been removed. 

Correct Answer: AD 

 

QUESTION 5

Click the Exhibit button. 

A customer is interested in using SnapCenter to support Snapshot copies with their Oracle DB. They virtualized their
environment but do not have any block protocols available. 

In this solution, which protocol shown in the exhibit is supported? 

A. NFS 

B. SMB3 

C. iSCSI 
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D. FC 

Correct Answer: A 
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